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POLITICAL SCIENCE

( General )

Paper : 5.1

( Public Administration—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
weTe faTCaa eI Tee fore
fa) Who is regarded as the father of public
administration?

G &d e 1 (P11 =W 2

{p) Who first used the concept ‘scientific
management’?

‘CaEfAe ARG’ 4RI AW @A I9ER
FfafRet ?
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(c)

(d

(e)
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(2)

Which stage of evolution of public
administration is considered as ‘Golden
Age™?

@R RIMR @ “R/ES ‘e 3o
e e =

Which among the following is not
considered as a base of organization?

TER (IO o0 oS et a1y w1 = 2
(i) Purpose
S
(ii) Process
1]
(iii) Place/Area
E3C|
(iv) Principle
S (Choose the correct answer)
(= Teach! AfR Sferean)
Department is a line/a staff/an auxiliary
agency. (Choose the correct answer)
e 2'°a b1 R /372 /¢l SZES ¢ |
(wm Teahr AR Sferean)

Write one difference between department
and public corporation.

o ¢ 591a) 5T T o1 A1 o |

( Continued )

2. Answer the following questions :

8A/143

(3)

(g) The first public corporation of India was
established in the year 1948/1950/

1955.
(Choose the correct answer)

SASd A¥N DRl fRemch afedr P CafeE
358t [/ dh¢o [/ ddee B |

(o TEI0! AR Tferear)

(h) The Union Public Service Commission is
a constitutional body in India.
(Write True or False)

@R EROWR S Sed bl MR
e | (um & o for)
(i Name one staff agency of India.

SAOT BT T2 (o6 A ferdr |

() The word ‘corruption’ has come from the
Latin word ‘corrupt’.
(Write True or False)

'O *FACH] (@O R NG o R |
(W% & SRym for4r)

o AT Ted fore ¢

(a) Why is public administration a science?
Give two arguments.

P & e 2 701 I o

2x5=10
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(4)

(b) Mention two characteristics of New
Public Administration.

TP ERLPTRR o1 CIFET SeEe 34 |

() What is auxiliary agency?
¢ STERER (TG 6 2

(d) Write two advantages of decentralization.

ﬁzﬁ@%zﬁaﬁmﬁml

(e) Mention two measures of parliamentary
control over public corporation.

e e eoe wemy fawEem 1B TAm
TCEY 9|

. Answer in brief (any foun : 5x4=20

vy Teq i (R e oifkey)

(a) Write the differences between public
administration and private adminis-
tration.

TR IF (IO PR AR 14 |

(b)) What are the types of department?
Explain.

frorR aRER &2 w901

( Continued )

()

(d)

(e)

(5)

Write about the  principles of
bureaucratic theory of Max Weber.

(T STEART SIACONET O ASCad o147 |

Write a short note on POSDCoRB.
POSDCoRB 7 ¢*¥% @b 55 (G ford |

Write briefly about the causes of
degradation of ethics and values in
Indian administration.

SRER ppTe NS F TEARIE STHIT T
ST YL fordn o

(i Explain in brief about the importance of
public administration.
CERPEPIPTR @Fs 990 BLF 001 40 |
4. Answer the following questions : 10x4=40

weTs ful epeaes Teq forsn ¢

(@)

8A/143

What is public administration? Discuss
its nature.

T T 7 IR 2T ST 347 |
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(b)

(c)

8A/143

(6)

Or / &

Discuss briefly various stages of
evolution of public administration as a
discipline.

e FoTee e e RieR oRfcaE
FYF ST F4 |

Critically discuss the scientific
management theory of organization.

Sead (A SRBERl OgCo! AT
HICAD F41 |

Or / &4l

Analyze critically the bases of
departmental organization.

Refy et fofecaRa Sreere e
SISACE |

What is meant by span of control? Why is
it necessary in organization? Explain.

oz fgfes wd &2 ool BT ACAEATST
&2 e F

Or / =24l

What is meant by hierarchy? Write briefly
its advantages and disadvantages.

wf“wmff%vmiﬁmwmﬁw
e o

( Continued )
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(T )

(d) Analyze briefly the differences between

line agency and staff agency.

F( (oD W IR (M AL TF I
Sl
Or / W&

What is public corporation? Write briefly
the characteristics of public corporation.

R fe 2 e e GfEEE sie
fera o

* %k K
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POLITICAL SCIENCE
( General )

Paper : 5.2

( Select Constitutions—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
Aot SRR oo frrcaee Ted fora :

(a) The British Constitution is unwritten.
(Write True or False)

e R SRS |
(%1 &1 =pTe ferd)

(bp) The President of America cannot be
removed. (Write True or False)

HARFR IS epife IR FRIR |
(1% 1 =T o)
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(2)

(3)
(c) Which House of the British Parliament
can be dissolved? (h) What is the term of the House of
9% TR (I T S S Representatives of USA?
N N [
icfAFE AfSffd o FRFrE R 2

(d) The tenure of the Office of the President

of USA is | (i) Which Court is the highest Court of
S (Fill in the blank) Appeal in Great Britain?
i il 16 JU0ZAS @ EET THew A THE ?
HARER ST IR |
(A0 312 &1 1) () The British Constitution is very flexible.
(Write True or False)
() The British Cabinet is collectively 3fow AR sfexm A |

responsible to the House of Lords.

(Write True or False) (@1 1 wpTe fara)

IER TGS THRISE TED TOH  SHI© 2. Answer the following : 2x5=10
YRS | |
wore e Tae fa -

(1% & =T o)
(a) Write two differences between King and

() Who appoints the Prime Minister of Great the Crown.
T
R T8 S TSR &S GF 1 =16 e |
b IR daeEES @I e e 2

(b) Write two qualifications for the

fg) Who presides over the meetings of the Presidentship. of USA.
Senate? AARIE AGATS v 701 S fert |

f5cba TePmES @I STefes 34 2
() Name two political parties of Britain.

JCOZA 01 IS(ANSS oq AN o147 |
8A/144 ( Continued ) ‘jﬁl
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(4) (5)

{d) Write two powers and functions of the (d) What are the causes of weakness of the

Supreme Court of USA. House of Representatives of USA?
WWW@TWWW SR AR seR erer FeepEz & 2
| :
(e) Discuss the position of the Speaker of the
(e} Mention two causes of the omnipotence House of Commons.
of the British Cabinet.
%A HIPTOT 2T BT TR TeEd 40 | T TS S AR SO 4 |

() Make a short comparison between the
House of Lords of UK and the Senate

3. Answer any four of the following : 5x4=20 in USA
oo i @ie wifbr Teq o
HAGT 5 WSl AT SACHIIT Db TSR A&

fa) Discuss the role of Convention in the G T L T
British Constitution.
R RS (I B SCEATBT 4T | 4. Answer any four of the following : 10x4=40

wore fraaRd R @ vkt Teg foe

(b) Discuss the features of the Party System _
of USA. fa) What is Constitution? Discuss the
AEREE 6 IEEA m S 34 | importance of Constitution in democracy.

ey 7 sloFe WRAE BFE A F97 |

(c) Explain the differences between the

Cabinet and the Council of Ministers of
UK.

TFGT TIPSl HE A A TEe &
WWWW! W’Rﬁm‘@ﬁﬁ@mmﬂz

(b) Discuss the main features of British
Constitution.
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€79
(6)
(h) Discuss the main features of the British

(c) Explain the powers, functions and Judicial System.

position of the Prime Minister of Britain. IR o9 IRER gy REPIR e
IOTR AT WA, T WF o Al
HICEAN] 4T |

* % &

(d) Discuss the composition, powers and
functions of the Senate in USA.

SCRP et e 5, W e PR
SO 1 |

() Why is the Supreme Court of USA
described as the Third Chamber of the
legislature? Explain.

SR Twey RS 7 Remed oo
e o1 CPIRT =8 2 0 40

() Discuss the salient features of the British
Cabinet.

o= SRTOR 2w CIRBPTE SCA 47 |

(g) Discuss the role of Pressure Groups in
the political system of USA.

SARTR IELAT TErS e 1B s
SIS 4 |
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